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* 1 irreducible components of dim¢ = 0, with total 21 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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(i) Arc colorings
0
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w4+ Tut? + 18u!0 + 1908 + 4ub —4ut + 1
u + 6u? + 1300 + 10u® — 2ub — 40t + u?
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(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u'? + 4u'® + 36u'" + 3206 + 132u'® + 100u'* + 244u'® +
140u'? + 216u' + 520’ + 40u? — 68u® — 56u” — 52u’ + 12u* + 36u® + 12u? + 8u + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Y
“ u?t +5u*0 4+~ 11lu—3
Ca, Cg, C7 v +u? + o —u—1
3 u?t w4 = 3u—1
Cq,C8 W+ 4+ 3u—1
Cs, Co u? — w0 fu—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
Cc1 y21+3y20+_41y_9
C2,Cg, C7 y21+19y20++3y—1
c3 y21_y20++3y_1
c4,Cs v 15y 2Ty — 1
C5,Cy Ty 3y 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I}

V=1(vol + y=1CS)

Cusp shape

0.199184 + 0.9533311

1.36988 + 2.685881

5.85070 — 3.675181

g
I

0.199184 — 0.9533311

1.36988 — 2.685881

5.85070 + 3.675181

S
I

—0.268883 + 0.7397691

1.15989 + 2.731521

4.80842 — 2.001841

=
-~
|

—0.268883 — 0.7397691

1.15989 — 2.731521

4.80842 + 2.001841

u = —0.721828 + 0.2534461 2.90434 — 6.518361 7.49661 4 6.691621
u = —0.721828 — 0.2534461 2.90434 4 6.518361 7.49661 — 6.691621
u = 0.708881 + 0.1964681 3.65968 4 0.901101 9.44354 — 1.258801
u = 0.708881 — 0.1964681 3.65968 — 0.901101 9.44354 + 1.258801
u = 0.161237 4 1.3274801 —3.39772 4 2.262761 4.12423 — 3.114091
uw= 0.161237 — 1.3274801 —3.39772 — 2.262761 4.12423 + 3.114091
uw = —0.520195 + 0.3405111 —2.02154 — 1.596901 0.86726 + 4.738291
u = —0.520195 — 0.3405111 —2.02154 + 1.596901 0.86726 — 4.738291
u= 0.280467 + 1.3743601 —1.32092 4 4.483851 4.56586 — 2.473521
u= 0.280467 — 1.3743601 —1.32092 — 4.483851 4.56586 + 2.473521
u = —0.085311 + 1.4038901 —5.14411 4+ 1.807631 | —0.25907 — 2.736251
u = —0.085311 — 1.4038901 —5.14411 — 1.807631 | —0.25907 + 2.736251

u = —0.20569 + 1.411701

—7.58755 — 4.297201

—2.75143 + 3.933041

u = —0.20569 — 1.411701

—7.58755 + 4.297201

—2.75143 — 3.933041

u = —0.28719 + 1.402731

—2.37086 — 10.183301

2.74618 + 7.212961

u = —0.28719 — 1.402731

—2.37086 + 10.183301

2.74618 — 7.212961

u =

0.478663

0.823807

12.2150




II. u-Polynomials

Crossings u-Polynomials at each crossing
€1 ' + 50+~ 11u — 3
C2,Cq, C7 w4 -1
€3 u w4+~ 3u—1
Cy4, Cs u +7u 4+ 3u—1
€5, C9 w4 -1




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
“ vt 3y ALy -9
€2, C6, C7 Y1970 3y — 1
C3 y217y20+“.+3y71
C4,C8 Y+ 15y%0 2Ty — 1
C55 C v Ty 3y — 1




